B Com. Second Year Examination, 2012

Commerce-ll (Income-Tax)
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Mr. Devendra, an employee in company at Delhi is drawing a salary of Rs. 16000 p- m. plus 10% of hig i
salary as dearness pay. He is getting entertainment allowance of Rs. 1000 p.m. He has spent Rs. 5009
on entertainment of the company's customers. He is provided with a rent -free unfurnished house of the
fair rental value of R, 8000 p.m. The house is owned by the company. He is also provided with a small
car for his personal and official use and all expenses of its running, maintenance and driver are met by
the company. Devendra borrowed Rs. 1,00,000 interest free loan from the company to construct the
house before one year. The State Bank of India charges interest on such loans @ 8% p.a.

Compute his income from salary for the assessment year 201112, '
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What do you mean by 'Capital Gains'? What are its types:? How are they computed ?
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Mr. Ashok owns a house at Kanpur municipal value of which is Rs. 30000 and fair rent Rs. 35000 per
annum. During the previous year the house is used by him for his own residence from 1st April, 2010
to 30th June 2010 and is let out at Rs. 3000 p-m. from Ist July 2010 for residential purpose. The house
owner incui're_d the following expenses during the previous year : :

Municipal Tax Rs. 4500, Repair Rs. 6000, Fire Insurance Premium Rs. 4000, Land Revenue Rs. 4500 and
Ground Rent Rs, 3000. He took a loan of Rs, 40000 @ 18% interest per annum for the construction of the
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~ house as on Ist April, 2007. The construction is completed on 31st March 2008. No amount has been
- paid of so far, o e A ’ 4
- Compute taxable income from house poperty for the assessment year 2011-12.
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; Ambica Unsolved Papers
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Interest received on post office saving bank Account Rs. 800
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Dividend Rs. 10,000 received on equity shares of Modi Rubber Ltd. Meerut.
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Compute taxable income from other sources of Mrs. Denu for the assessment year 2011-2012.
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What do you mean by expression '‘Best Judgement Assessment? £
8 “amgEt T H) M W N ¥ 0 AW 36 FoF A PohA: T &2
- . "Income tax is charged on the income of the previous year." Do you fully agree with this statement ?
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" Distinguish between recognized provident fund and unrecognized provident fund.
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